3UDFRZQLN SRINADG  SURI QDG]Z ODNRZVND -DQXVLN OD&IRUIDWD 7\J

=LPDB

7\6]
OHIRGRIRJID EDGDE

o QDXNRZ\FK L LFK
™ NRPHUFIDL]DFID SURI
QDG]Z ODNRZVND
-DQXVIN ODiJRUIDID $
%O -
N N N
% OHIRGRIRJLD EDGDE OHIRG\ND | OHIRGRIRJLD EDGDE
Z QDXNRZ\FK L LFK PHIRGRIRJID ZDUWV]IDIN QDXNRZ\FK L LFK
= NRPHUFIDLJDFID SURI PHIRG\F]QH ZDW] SURI NRPHUFIDLJDFID SURI
N QDG]Z ODNRZVND QDG]Z ODNRZVND QDG]Z ODNRZVND
-DQXVIN OD:iJRUIDID $ -DQXVIN OD:iJRUIDID $ -DQXVIN OD:iJRUIDID $
%O oz 6" &+ 67) %O oz
7\G] 7\G]
OHIRGRIRJLD EDGDE OHIRGRIRJLD EDGDE
QDXNRZ\FK L LFK QDXNRZ\FK L LFK
NRPHUFIDIJDFID SURI NRPHUFIDI]DFID SURI
QDG]Z ODNRZVND QDG]Z ODNRZVND
-DQXVIN ODiJRUIDID $ -DQXVIN OD:JRUIDID $%
%O U %O U
8 =DICFID IDN ZH ZIRUHN =DICFID IDN ZH ZIRUHN
o
I 76l
OHIRGRIRJLD EDGDE
QDXNRZ\FK L LFK
NRPHUFIDLJDFID SURI
QDG]Z ODNRZVND
-DQXVIN OD:JRUIDID $%
35%&2:1,%
)=<&=1% %O
=
> N N
I OHIRGRIRJID EDGDE OHIRGRIRJID EDGDE
S QDXNRZ\FK L LFK QDXNRZ\FK L LFK
ﬁ NRPHUFIDL]DFID SURI NRPHUFIDL]DFID SURI
A QDG]Z ODNRZVND QDG]Z ODNRZVND
L -DQXVIN ODiJRUIDID $ -DQXVIN OD:iJRUIDID $
% O =l % O =l
=
™
o
©




